(1) Macieja,B (2629) - Wojtaszek,R (2637)
[A4T7]
Bundesliga 2006-7 Werder Bremen GER (10),
24.02.2007
[Radek Wojtaszek]

1.d4 | won three last games against Bartek, so |
was in good shape, despite all that games |
played with white. 1...5f6 2.Sf3 e6 3.Lg5 c¢5 4.c3
b6?! Now white has a clear advantage. More
accurate was [4..h6 5.Lh4 (5.Lxf6 Dxf6 6.e4
cxd4!? 7.cxd4 Lb4+ 8.Sc3 0-0 9.a3 Lxc3+
10.bxc3 d6= and black's position is quite solid)
5...b6] 5.e4 h6 6.Lxf6 Dxf6 7.Ld3 Lb7 8.0-0 Dd8
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After this move Bartek spent 50 minutes. It was
the reason of his time-trouble. 9.Te1 Le7
10.Lc4!? Interesting continuation. More solid was:
[10.Sbd2 0-0 11.5f1 d6 12.Sg3 Sd7 13.a3% and
white has more space] 10...cxd4! Other moves
were even worse [10...0-0 11.d5% with the idea
Bf1,c4 and e5; 10..d5 11.exd5 Lxd5 12.Lxd5
Dxd5 13.c4!] 11.cxd4 0-0 12.d5 Dc7 13.Dd3 a6
14.Sc3?! This obvious move leads to the unclear
play. [14.Sbd2! b5 15.Lb3 Db6 16.e5+ and black
has no room to breath:)] 14...e5!» 15.Tac1 d6
16.a4 Sd7 17.b4 Dd8 18.Tc2 g6 19.Sd2 Kg7?! |
played too slowly, better was [19...Lg5 20.Sb3 f5
21.g3 f4,] 20.Sb3 Lg5 21.a57?! [21.g3! This strong
move was overlooked by both of us. 21...h5 22.h4
Lh6 23.a5+] 21...f5! [21...b57 22.Sxb5 (22.Lxb5?7?
axbb 23.Sxb5 La6-+) 22...axb5 23.Lxb5+ And it
looks like black has a real problem how to stop
white pawns.] 22.axb6 Dxb6 23.Sa5 Dxb4
24.Tb1?! Bartek was in time-trouble now.
[24.Ta2? With the idea Rb1, but simply it doesn't
work. 24...Sc5 25.Dc2 Sxed4—+; 24.Sc6! Db6
25.Sa4 Dc7 26.Lb3!z] 24...Dxa5 25.Txb7 Tf7!?
[25...Da1+ | could force a draw, but | saw that our
situation in match is not so good, so | decided to
play for win 26.Tb1 Da5 27.Tb7=] 26.exf5 gxf5
27.Ta2 Dc5 28.Sa4 Dd4 29.Dxd4 exd4 30.Sb6
Te8!
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31.g3? This is the result of Bartek's time-trouble.
[31.h4! This should be played 31...Te1+ 32.Kh2
Sxb6 33.Txb6 Lxh4 And black has some winning
chances, but probably it should be something like
a draw; 31.Txd7?! Te1+ 32.Lf1 Txd7 33.Sxd7 d3
34.f4! Lxf4 35.Kf2 d2 36.Le2 d1D 37.Lxd1 Txd1
38.Txa6¥] 31...Sc5 32.Txf7+ Kxf7 33.Sa4 Tel+
34.Kg2 Se4? | completely overlooked winning
continuation: [34...d3! 35.f4 (35.Sxc5 d2 36.Lb3
dxcb 37.h4 (37.f4? Te2+! 38.Kf3 d1D-+) 37...d1D
38.Lxd1 Txd1 39.hxg5 hxg5—+) 35...Sxa4! 36.fxg5
Sc3 37.Td2 Te2+ 38.Txe2 dxe2 39.Kf2 a5!—+]
35.8b27?! [35.h4! Lf6 36.Lxa6 Sc3 37.Sxc3 dxc3
38.Ld3%] 35...Tc1!
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36.Ld3 [36.h4 Le3! 37.fxe3 (37.Ld3 Lxf2 38.Lxe4
fxe4 39.Kxf2 Tc2+—+) 37...Tc2+ 38.Kg1 dxe3 and
probably black is winning] 36...Tc3! 37.Txa6? The
last mistake [37.f3! Sc5 38.Lxf5 and it is not easy
to show winning continuation for black] 37...Lc1!-
+ 38.Tb6 Lxb2 39.Lxe4 fxed4d 40.Txb2 Rook
ending is just matter of technique 40...d3 41.Tb1
Kf6 42.Kf1 Ke5 43.Ke1 Tc2 44.g4 Te2+ 45.Kf
e3 46.fxe3 Txh2 47.Kg1 Tc2 48.Kf1 Ke4 01
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